Problem set c

problem 25-1c 
Fox Corporation is planning to add a new product to its line. To manufacture this product, the company needs to buy a new machine at a cost of $800,000. This machine is expected to have a three-year life and a $50,000 salvage value. All sales are for cash, and all costs are out of pocket except for depreciation on the new machine. Additional information includes the following:

Expected annual sales of new product

$1,400,000

Expected annual costs of new product

  Direct materials

500,000

  Direct labor

250,000

  Overhead excluding  depreciation on new machine

180,000

  Selling and administrative expenses

55,000

  Income taxes

40%

Required

1. Compute straight-line depreciation for each year of this new machine’s life.

2. Determine expected net income and net cash flow for each year of this machine’s life.

3. Compute this machine’s payback period, assuming that cash flows occur evenly throughout each year.

4. Compute this machine’s accounting rate of return, assuming that income is earned evenly throughout each year.

5. Compute the net present value for this machine using a discount rate of 8% and assuming that cash flows occur at each year-end. (Hint: Salvage value is a cash inflow at the end of the asset’s life.)

PROBLEM 25-2C 

Stevens Company has an opportunity to invest in one of two new projects. Project X requires an investment of $300,000 for new equipment having a four-year life and no salvage value. Project Y requires an investment of $300,000 for new machinery having a five-year life and no salvage value. The two projects yield the following predicted annual results. The company uses straight-line depreciation, and cash flows occur evenly throughout each year.

                                                     Project X  Project Y

Sales

$350,000
$320,000

Expenses

  Direct materials

40,000
30,000

  Direct labor

64,000
66,000

  Overhead including depr.

195,000
180,000

  Selling and admin. expenses

18,000
18,000
Total expenses

$317,000
$294,000
Pretax income

$  33,000
$  26,000

Income taxes (40%)

13,200
10,400
Net income

$ 19,800
$  15,600

Required

1. Compute each project’s  annual expected net cash flows. 

2. Determine each project’s payback period. 

3. Compute each project’s accounting rate of return.

4. Determine each project’s net present value using 6% as the discount rate. For part (4) only, assume that cash flows occur at each year-end.

Analysis Component

5. Identify the project you would recommend to management and explain your choice.

PROBLEM 25-3C

OTW Inc. is considering a new project requiring a $50,000 investment in special equipment with no salvage value. The project would produce $18,000 of pretax income before depreciation at the end of each of the next six years. The company’s income tax rate is 35%. In compiling its tax return and computing its income tax payments, the company can choose between the two alternative depreciation schedules shown in the table.



Straight-Line



   MACRS

 
Depreciation



Depreciation*

Year 1

$  5,000
       
$10,000

Year 2

10,000


  16,000

Year 3

10,000


    9,600

Year 4

10,000


    5,760

Year 5

10,000
  

    5,760

Year 6

5,000


    2,880

Totals

$50,000


$50,000
* The modified accelerated cost recovery system (MACRS) for depreciation is discussed in Chapter 10.

Required

1. Prepare a five-column table that reports amounts (assuming use of straight-line depreciation) for each of the following items for each of the six years: (a) pretax income before depreciation, (b) straight-line depreciation expense, (c) taxable income, (d) income taxes, and (e) net cash flow. Net cash flow equals the amount of income before depreciation minus the income taxes.

2. Prepare a five-column table that reports amounts (assuming use of MACRS depreciation) for each of the following items for each of the six years: (a) pretax income before depreciation, (b) MACRS depreciation expense, (c) taxable income, (d) income taxes, and (e) net cash flow. Net cash flow equals the amount of income before depreciation minus the income taxes.

3. Compute the net present value of the investment if straight-line depreciation is used. Use 15% as the discount rate.

4. Compute the net present value of the investment if MACRS depreciation is used. Use 15% as the discount rate.

Analysis Component

5. Explain why the MACRS depreciation method increases this project’s net present value.

PROBLEM 25-4C

Walk and Talk Company manufactures plastic cell phone belt clips that wholesale for $5 per package. The company manufactures and sells approximately 80,000 clips each year. Annual costs for the production and sale of this quantity are shown in the table.

Direct materials

$  40,000

Direct labor

80,000

Overhead

51,000

Selling expenses

64,000

Admin.expenses

75,000
Total costs

$310,000
Nerds’R’Us computer supply house has offered to buy 15,000 phone clips for $3.00 each. These clips would be stamped with the company logo and passed out to employees and would not affect Walk and Talks’ sales through its normal channels. A study of the costs of this additional business reveals the following:

• Direct materials costs are 100% variable.

• Per unit direct labor costs for the additional units would require an extra $.40 per unit to stamp the company logo.

• Variable overhead is $16,000 at the 80,000 unit level and fixed overhead would increase by $5,000 for the logo stamping machine.

• Accepting the new business would involve no additional selling expenses.

• Additional administrative costs are expected to be $10,000.

Required

Prepare a three-column comparative income statement that shows the following:

1. Annual operating income without the special order (column 1).

2. Annual operating income received from the new business only (column 2).

3. Combined annual operating income from normal business and the new business (column 3).

PROBLEM 25-5C

SVC Company is able to produce two products, X and Z with the same machine in its factory. The following information is known:

                                                  
                    X
             Z            

Selling price per unit


$60
    $80

Variable costs per unit


      20
      45
Contribution margin 


$ 40
   $ 35
Machine hours to produce 1 unit
            .8 hour         2 hours

Maximum  unit sales per month
          400 units      350 units

The company presently operates the machine for a single eight-hour shift for 22 working days per month. Management is thinking about operating the machine for two shifts which will increase its productivity another eight hours per day for 22 days per month. This change would require $3,250 additional fixed costs per month.

Required

1. Determine the contribution margin per machine hour that each product generates.

2. How many units of Product X and Product Z should the company produce if it continues to operate with only one shift? How much total contribution margin does this mix produce each month ?

3. If the company adds another shift, how many units of Product X and Product Z should it produce? How much total contribution margin would this mix produce each month? Should the company add the new shift? Explain.

4.  Suppose that the company determines that it can increase Product X’s maximum sales to 440 per month by spending $1,000 per month in marketing efforts. Should the company pursue this strategy and double shift?
PROBLEM 25-6C

Urban Sales Company’s management is trying to decide whether to eliminate Department 180, which has produced losses or low profits for several years. The company’s 2008 departmental income statement shows the following:

URBAN SALES company

Departmental Income Statement

For Year Ended December 31, 2008


Dept. 170
Dept. 180
Combined

Sales

$420,000
$250,000
$670,000

Cost of goods sold

232,000
158,000
390,000
Gross profit

$188,000
$ 92,000
$280,000

Operating expenses

  Direct expenses

    Advertising

22,000
10,000
32,000

    Store supplies used

7,500
2,400
9,900

    Depreciation—Store equip.

6,000
4,400
10,400
    Total direct expenses

$ 35,500
$ 16,800
$ 52,300

  Allocated expenses

    Sales salaries

$ 66,000
$ 33,000
$99,000

    Rent expense

8,000
14,000
22,000

    Bad debts expense

2,000
7,000
9,000

    Office salary

17,100
17,100
34,200

    Insurance expense

2,000
3,000
5,000

    Misc. office expenses

1,500
3,800
5,300
    Total allocated expenses

$96,600
$ 77,900
$174,500
Total expenses

$132,100
$ 94,700
$226,800
Net income (loss)

$ 55,900
$  (2,700)
$ 53,200
In analyzing whether to eliminate Department 180, management considers the following items:

a.
The company has one office worker who earns $34,200 per year, and three sales clerks who each earn $33,000 per year.

b.
The full salaries of two sales clerks are charged to Department 170. The full salary of one sales clerk is charged to Department 180. 

c.
Eliminating Department 180 would avoid the sales salaries and the office salary currently allocated to it. The office worker has indicated a desire to switch to half-time which management is willing to do if Department 180 is eliminated.

d.
The store building is rented under a long-term lease that cannot be changed. Therefore, Department 170 will use the space and equipment currently used by Department 180. 

e.
Closing Department 180 will eliminate: its expenses for advertising, bad debts, and store supplies; 50% of the insurance expense allocated to it to cover its merchandise inventory; and 30% of the miscellaneous office expenses presently allocated to it.

Required

1. Prepare a three-column report that lists items and amounts for (a) the company’s total expenses (including cost of goods sold)—column 1, (b) the expenses that would be eliminated by closing Department 180—column 2, and (c) the expenses that will continue—column 3.

2. Prepare a forecasted annual income statement for the company reflecting the elimination of Department 180 assuming that it will not affect Department 170’s sales and gross profit. The statement should reflect the reassignment of the office worker to one-half time.

Analysis Component

3. Reconcile the company’s combined net income with the forecasted net income assuming that Department 180 is eliminated (list both items and amounts). Analyze the reconciliation and explain why you think the department should or should not be eliminated.

